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+2 fzf;Fg;gjptpay; miuahz;Lj;Njh;T brk; - 18 
rhpahd tpil                   20X1=20 
1. (,) KjYld;    
2. (m) thuhf;fld; 
3. (M) epiyawpf;if    
4. (m) rpW tpahghhpfs;  
5. (M) & 2 15 000 
6. (M) Nja;khdk;-epiyr; nrhj;J mjpfhpj;jy; 
7. (m) el;lk;  
8. (,) & 16200     
9. (M) & 2 05 000  
10. (m) elg;G  
11. (M) vjph;    
12. (,) elg;G  
13. (M) cah; ,yhgk; 
14. (,) jpahf tpfpjk;  
15. (m) ,yhg  
16. (,) fld; fzf;F  
17. (,) 2 : 1  
18. (M) epWkj;jpd; gq;Fjhuh;   
19. (m) 6% 
20. (,) xU khjk;  
VNjDk; 7 tpdhf;fSf;F tpilasp   7X2=14 

21. kyhpd; Kjy; = 200000 
        ,yhgk; = 50000 
       ,yhg tpfpjk; = 50000 x 100 = 25% 
                     200000 
,uhzpapd; Kjy; = 100000 
        ,yhgk; = 40000 
       ,yhg tpfpjk; = 40000 x 100 = 40% 
                     100000 
,uhzpapd; tzpfk; ,yhgfukhdJ 
22.gj;jpu Kidk fzf;F ,Ug;G epiyf; 
Fwpg;gpd; nghWg;Gfs; gf;fj;jpy; fhg;Gk; 
kpFjpAk; jiyg;gpd; fPo; fhl;lg;gl Ntz;Lk;  
23.khw;Wjy; Kiw: xw;iw gjpT Kiwapy; 
cs;s gjpTfisf; nfhz;L tpahghuf; f/F> 
,yhg el;l f/F jahhpf;fg;gLtJ khw;Wjy; 
KiwahFk;. 
24. Nja;khdk; : fhh;lh; mth;fspd; $w;Wg;gb 
vf;fhuzj;jpdhYk; nrhj;jpd; kjpg;gpy; 
cz;lhFk; gbg;gbahd epiyahd FiwNt 
MFk;. 
25. nuhf;f ngWjy;fs; cjhuzk; (2) : 
1.nuhf;f tpw;gid> 2.thbf;ifahsh;fsplkpUe;J 
ngwf;$ba njhif> 3.tl;b fopT gq;fhjhak; 
Nghd;w tzpf tuTfs;. 4.nrhj;J tpw;wJ. 
5.gq;Ffs; kw;Wk; fldPl;L gj;jpuk; %yk; 
ngwg;gLk; njhif 6. ngw;w fld; 
26. ew;ngah; fzf;fpLk; Kiwfs; (2): 1.ruhrhp 
,yhg Kiw> 2.cah;,yhg Kiw> 
3.%yjdkhf;f Kiw  
27. rhpfl;L gjpT kw;wk; khw;W gjpT: 
Kjy;  f/F    g        5000 
     vLg;G kPJ tl;b f/F          5000 
(vLg;G kPJ tl;b Fwpj;J) 
vLg;G kPJ tl;b f/F   g   5000 
         , e f/F               5000 
(khw;W gjpT Fwpj;J) 

28. epfu yhg tpfpjk;      = epfu yhgk; x 100 
                          tpw;gid 
                     = 40000 x 100 = 40% 
                      100000 
29. Kfkjpg;gpy; ntspapl;ljw;fhd gjpT: 

(50000x=100) tq;fp f/F  g 50 00 000 

(50000x=100)        gq;FKjy; f/F         50 00 000 
          (Kfkjpg;gpy; ntspapl;lJ Fwpj;J ) 
30. vLg;G kPjhd tl;b fz;f;fpLf: 
Re;jh; vLg;G kPJ tl;b=nkhj;jvLg;Gfs; x tl;b tPjk; x fhyk; 

                         = 24000 x 10 x 13  =&1300 
                   100   24 
 VNjDk; 7 tpdhf;fSf;F tpilasp   7X3=21 
31. 31-3-2007 ehSf;Fhpa ,yhg el;lfzf;F 
g                                 t 
             Iaf;fld; xJf;F    4300 
            fopf;f thuhf;fld;  800 
                  Iaf;fld;  2500 3300 
                               1000 
32. Nja;khdk; Vw;gLtjw;fhd Gwf; 
fhuzq;fs; 1.tof;nfhopT: Gjpafz;Lgpbg;Gfs; 
Kd;Ndwpa nra;Kiwfs; njhopy; El;g 
tsHr;rp Nghd;wit fhuzkhf gioa 
nrhj;Jfs; gadw;wit Mfpd;wd.               
2.fhyg;Nghf;F: nrhj;Jf;fis 
gad;gLj;jhtpl;lhYk; gUtkhw;wk; fhw;W 
kioNghd;w ,aw;if fhuzpfshy; kjpg;G 
FiwfpwJ. 3.fhyepHzak;: Fj;jif 
gjpg;Ghpik jdpAhpik Nghd;wit Fwpg;gpl;l 
fhyj;jpw;F ngwg;gLfpd;wd.Fwpg;gpl;l fhyk; 
fle;j gpwF ,t;tif nrhj;Jfs; kjpg;ig 
,oe;J tpLfpd;wd. 
33.  Gw mf nghWg;Gfs; tpfpjk;  
=  nkhj;j ePzl fhyf;fld; = 2 : 1 
   gq;Fjhuh; epjp 
=  150000   = 2 : 1 
gq;Fjhuh; epjp 
= gq;Fjhuh; epjp = 150000 = & 75000 
                  2 
34. .,yhgk; / el;lk; fz;lwpf:   & 
,Wjp Kjy;               180000 
(+)  vLg;G                 36000 

   216000 
(-)  $Ljy; Kjy;           10000 
                        206000 
(-)  njhlf;f Kjy;         160000 
      ,yhgk;             46000 
35. IPd; 2017 nuhf;fj;jpl;lg;gl;bay;                 
                      IPd; & 
njhlf;f nuhf;fapUg;G         10000 
$l;Lf. nuhf;f tpw;gid     100000 
                         110000 
fopf;f (nrYj;Jjy;fs;)        
nuhf;f nfhs;Kjy;           70000 
tl;b nrYj;jpaJ             1000 
                          71000 
      ,Wjpnuhf;fapUg;G      39000 
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36. ruhrhp yhgk;                & 
       Kjyhk; Mz;L el;lk;   10000 
       2k; Mz;L  ,yhgk;     26000 
       3k; Mz;L  ,yhgk;     34000 
       4k; Mz;L  ,yhgk;     50000 
                           100000 
ruhrhp yhgk; = 100000 = &.25000 
             4 
ew;ngaH = ruhrhp yhgk; x nfhs;Kjy; Mz;L 

       = 25000x2          = &.50000 
37.   Gjpa yhg gfpHT tpfpjk;   
               Rjh    yjh   fyh 
gioa yhggfpHT =   4      :      3       :        
gioa gq;F  =         4      :       3       :        
                 7      7 
jpahfk; =                    2      :       1       :        
                 7      7 

Gjpagq;F : 4-   2   :  3 -  1   :   3  
         7   7     7  7      7        
                          =2  :   2  :    3 

                                     7       7       7 

Gjpa yhgg; gq;F =2 : 2 : 3  
38.epiy Kjy; Kiw khWgLk; Kjy; Kiw 
1.Kjy; njhif 
vg;NghJk; epiyahf 
,Uf;Fk; 
2.Kjy; fzf;F> elg;G 
fzf;F vd ,U 
fzf;Ffs; cz;L 
3.vy;yhrhpfl;Ljy;fSk; 
elg;G fzf;Ffspy; 
gjpag;gLk; 
4.elg;G fzf;f gw;W 
,Ug;igAk; 
tutpUg;igAk; fhl;Lk; 

1. Kjy; njhif 
Mz;Lf;fhz;L 
khWgLk; 
2.Kjy; fzf;F 
kl;LNk cz;L. 
 
3.vy;yhrhpfl;Ljy;fSk; 
Kjy; fzf;Ffspy; 
gjpag;gLk; 
4.Kjy; fzf;F 
vg;NghJk; 
tutpUg;igNa fhl;Lk; 

39. fhg;G epjp f/F   g     30000 
      kNdh Kjy; f/F            15000 
       kzp Kjy; f/F              9000 
      khwd; Kjy; f/F             6000 
   kNdh Kjy; f/F g    10000 
   kzp Kjy; f/F g      6000 
   khwd; Kjy; f/F g     4000 
          , e f/F   g          20000 
40. (200X10) g.Kjy;f/F g. 2000  
     (200 X8)    g.xWg;gpog;G f/F    1600        
     (200 X2)    gq;F ,Wjpmiog;G f/F   400 
  (xWg;gpog;G nra;ag;gl;lJ Fwpj;J) 
midj;J Nfs;tpfSf;Fk; tpilasp: 7X3=21 
41.m fz;zd; mth;fspd; VLfspy;  
g.            ,ae;jpu f/F            t. 
ehs;  tptuk;   njhif ehs; tptuk;  njhif 
1-4-10 tq;fpf/F    200000  31-3-11Nja;khdf/F  20000 
                      ,Ug;G fP/,       180000 
                -------------                ------------- 
                200000                 200000 
 
 
 

1-4-11 ,Ug;G fP/nfh 180000 31-3-12Nja;khdf/F   18000 
                           ,Ug;G fP/,  162000 
                -------------                ------------- 
                180000                 180000 
1-4-12 ,Ug;G fP/nfh 162000 31-3-13Nja;khd f/F  16200 
,/e(,yhgk;)f/F    14200       tq;fp f/F   160000 
                -------------                ------------- 
                 176200                176200 
               Nja;khd fF 
31-3-10 ,ae;jpu f/F  20000  31-3-10 yhgel;lf/F 20000 
                -------------                ------------- 
                 20000                  20000 
31-3-11 ,ae;jpu f/F  18000  31-3-11 yhgel;lf/F 18000 
                -------------                ------------- 
                 18000                  18000 
31-3-12 ,ae;jpu f/F 16200   31-3-12 yhgel;lf/F 16200 
                -------------                ------------- 
                16200                   16200 
41.M. ,yhg el;l gfpHT fzf;F 
ehs;  tptuk;   njhif ehs; tptuk;  njhif 
Kjy;kPJtl;b m9000      epfuyhgk; fPnfh   60000 
           gh 6000  15000 vLg;GkPJtl;bm500 
Cjpak;  ghyd;      15000          gh250  750 
,yhgk; Kjy; 
fzf;fpw;Fkhw;wg;gLtJ 
            md;G 15375 

            ghyd; 15375   30750                                                . 

                                     60750                                     60750 
42.m. 2014 khh;r; Vg;uYf;fhd nuhf;fjpl;lg;gl;bay ; 
tptuk;                 khh;r;      Vg;       
njhlf;f nuhf;fapUg;G      4025      5025     
(+)nuhf;f ngWjy;fs;       
nuhf;f tpw;gid          18000     24000   
nkhj;jnuhf;fngWjy;fs;    22025     29025  
(-)nuhf;fnrYj;Jjy;fs; 
nuhf;f nfhs;Kjy;        12000     16000    
rk;gsk;                 5000      5000    
fld;                    ----      6500  
nkhj;jnuhf;fnrYj;Jjy;fs;  17000    27500  
,Wjpnuhf;f,Ug;G          5025     1525    
42.M.  
rhykd; Kjy; f/F   g     50000 
      tq;fp  f/F               50000 
 (Kjy; njhif cldbahf nrYj;jpaJ Fwpj;J) 

rhykd; Kjy; f/F   g     50000 
      rhykdpd; fld;  f/F         50000 
 (Kjy; njhif cldbahf nrYj;jhtpl;lhy;) 

rhykd; Kjy; f/F   g     50000 
      tq;fp  f/F                 25000 
      rhykdpd; fld;  f/F         25000 
 (Kjy; njhif ghjp nuhf;fk; ghjp fld;) 
43.m.        tpahghu ,yhg el;l fzf;F 
njhlf;fr; ruf;fpUg;G   15600     tpw;gid     75000  
nfhs;Kjy;          45000  ,Wjpruf;fpUg;G   14700                                                                                            
nkhj;jyhgk; fP/,     29100 
                   89700                89700 
rk;gsk;  6000             nkhj;jyhgk;fPnfh  29100 
(+) nfhL 1000        7000   
thlif             4500 
fhg;gPL Kidkk;       900 
epfuyhgk;           16700                        
                  29100                29100 
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,Ug;Gepiyf;Fwpg;G 
    nghWg;Gfs;                nrhj;Jfs; 
Kjy;     120000            ,ae;jpuk;      72000 
(+)epfuyhgk16700           tq;fp          13500 
         136700          nuhf;fk;         13500 
(-)vLg;Gfs;  15000  121700    fldhsp         7500 
nfhLgl Nt rk;gsk; 1000 
fldPe;NjhH        10500      ,Wjpruf;fpUg;G 14700 
               133200                  133200 
43.M. xU epWkk; Fwpg;NgL : 
 (100X10) g.Kjy;f/F g. 1000  
 (100 X7)    g.xWg;gpog;G f/F       700        
 (100 X3)    gq;F ,Wjpmiog;G f/F     300 
  (xWg;gpog;G nra;ag;gl;lJ Fwpj;J) 
       tq;fp f/F    g. 800 
    gq;FxWg;gpog;Gf/F g. 200   
               g.Kjy;f/F     1000 
  (kWntspaPL nra;ag;ggl;lJ Fwpj;J) 
  gq;FxWg;gpog;G f/F g    500 
         Kjypd fhg;G  f/F       500 
  (kWntspaPL ,yhgk; Kjypd fhg;Gf;F khw;wpaJ) 
 44.m.     nkhj;j fldhspfs; fzf;F 
,Ug;GfP/nfh   100000   ngw;wnuhf;fk;       590000 
                    mspj;jjs;Sgb      5000 
fld; tpw;gid 571000  tpw;gidj;jpUg;gk;     6000 
                   ,Ug;G fP/,        700000             
            671000                   671000  
nkhj;j tpw;gid = nuhf;f tpw;gid + fld; tpw;gid 

              = 50000 + 571000 = & 621000 
nkhj;j fldPe;NjhH fzf;F 

nrYj;jpa nuhf;fk;  40000   ,Ug;GfP/nfh     65000 
ngw;wjs;Sgb       3000 
nfhs;Kjy;jpUg;gk;   10000 
,Ug;G fP/,         50000  fld; nfhs;Kjy; 38000 
                 103000                103000      
nkhj;j nfhs;Kjy; = nuhf;f nfhs; + fld; nfhs; 

              = 25000 + 38000 = & 63000 
44.M.  
KjyPLfs; f/F   g     18000 
      kWkjpg;gPL f/F              18000 
kWkjpg;gPL f/F   g     78000 
      ruf;fpUg;G f/F              18000 
      miwfyd; f/F              6000 
       ,ae;jpu f/F                30000 
      njhopyhsh; <l;LWjp f/F      24000       
uhjh Kjy; f/F   g     36000 
mKjh Kjy; f/F   g   24000 
        kWkjpg;gPL f/F            60000 
g.             kWkjpg;gPL fzf;F       t 
ruf;fpUg;G        18000       KjyPLfs;     18000 
miwfyd;        6000  kWkjpg;gPl;Lel;lk; 
,ae;jpuk;        30000  uhjh   36000              
njhopyhsh;<l;Lepjp 24000  mKjh24000         60000                   
               78000                    78000 
45.m. nkhj;j yhgtpfpjk; = nkhj;j yhgk; x 100 
                       tpw;gid 
 nkhj;jyhgk;= tpw;gid –tpw;wnghUspd; mlf;f tpiy 
          = 300000 – 150000 = & 150000 
             150000 x 100    = 50% 
             300000 
  
 

 epfu yhg tpfpjk;      = epfu yhgk; x 100 
                       tpw;gid 
                     = 30000 x 100 = 10% 
                      300000 

elg;G tpfpjk; = elg;G nrhj;J  
               elg;G nghWg;G 
=  60000  =     2 : 1 
   20000 
45.M. 
ruhrhp yhgk; = ruhrhp yhgk; - Cjpak;   
           = 54000  - 90000   =  &.45000 
rhjuz yhgk; =  
     gad;gLj;g;gl;l Kjy; X rhjhuz ,yhg tpfpjk 

;  = 300000 X 10/100   = & 30000      
cah; ,yhgk; = ruhrhp yhgk; -  rhjuz ,yhgk; 

           = 45000 – 30000 = &15000 
ew;ngaH = cah; yhgk; x nfhs;Kjy; Mz;L 
 
       = 15000x2          = &.30000          
46.m. ,WjpKjy; fzf;fPL: 
jpUkjp.kPdhtpd; 31.03.04 ehisaepiyawpf;if  
     nghWg;Gfs;           nrhj;Jfs; 
fldPe;Njhh;     25000  tq;fp         8000 
nfhLgl nr     1000  ruf;fpUg;G     80000 
,Wjp Kjy;   116500  fldhspfs;    50000 
                  miwfyd;      2500 
                  nuhf;fk;        2000 
   142500               142500 
          ,yhg el;l mwpf;if : 
,Wjp Kjy;          116500 
$l;Lf:vLg;G           12000 
                   128500 
fopf;f:$Ljy; Kjy;    20000  
                   108500 
fopf;f:njhlf;fKjy;   120000 
      el;lk;         11500 
46.M. elg;G tpfpjk; = elg;G nrhj;Jfs; 
                 elg;GnghWg;Gfs; 
       = ruf;fpUg;G+ fldhsp+nuhf;fk; +Knrnr 
                   fldPe;Njhh; 

        = 22000+19000+5000+2000 
            24000 
               =  48000 =   2 : 1 
                  24000  
.ePHiktpfpjk;=  ePHikr;nrhj;Jfs; 
             elg;GnghWg;Gfs; 
=elg;G nrh – (ru+Knrnr) 
      fldPe;Njhh; 
=48000- 24000 
    24000 
=      24000       = 1  : 1 
     24000   
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47.m.  
thuhf;fld; f/F   g        2000 
      gw;gyfldhspfs;  f/F        2000 
 (thuhf;fld; Nghf;nfOjpaJ Fwpj;J) 

,yhgel;l f/F  g          3000 
     thuhIafld;xJf;F f/F       3000 
    (thuhIafld;xJf;F Fwpj;J) 
,yhgel;l f/F   g          1140 
     fldhspfs;kPjhd js;Sgb f/F   1140 
(fldhspfs; kPjhd js;Sgb xJf;F Fwpj;J)      

Nja;khd  f/F    g        10000 
            ,ae;jpu f/F          10000 
(Nja;khdk; ePf;fpaJ Fwpj;J) 
,Wjpruf;fpUg;G f/F    g    12140 
            tpahghu f/F          12140 
(,Wjpruf;fpUg;G Fwpj;J) 
 
47.M.  utp tiuaW epWkj;jpd; VLfspy; 
Fwpg;Ngl;Lg;gjpTfs; 
ehs;      tptuk;            gw;W&   tuT & 
tq;fp f/F     g            27000 
     gq;Ftpz;zg;g fF              27000 
  (tpz;zg;gg;gzk; ngwg;gl;lJ) 
 
gq;Ftpz;zg;g f/F   g       27000 
      gq;FKjy;f/F                 27000 
(tpz;zg;gj;njhif Kjy;fzf;fpw;F khw;wg;gl;lJ) 
gq;F xJf;fPL f/F  g        27000  
 
   gq;F Kjy; f/F                27000 
(gq;FfSf;F xJf;PL ngw Ntz;baJ ) 
tq;fp f/F   g              27000 
    gq;f xJf;fPL f/F               27000 
(xJf;PL gzk; ngw;wJ Fwpj;J) 
gq;FKjy; miog;Gf/g        18000 
      gq;FKjy; f/F                18000 
(Kjy;miog;G njhif ngwNtz;baJ) 
tq;fp f/F   g             18000 
      gq;FKjy; miog;G f/F         18000 
     (Kjy; miog;G njhif ngwg;gl;lJ) 
gq;F,Wjpmiog;gf/F  g  18000 
      gq;FKjy;f/F                 18000 
(,Wjp  miog;G njhif ngwNtz;baJ) 
tq;fpf/F       g       18000 
      gq;F,Wjpmiog;g f/F          18000 
(,Wjp  miog;G njhif ngw;wJ) 


